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I.  Analyzing rann’s opinion, per »"’s extension — even awareness of the Mo>x at time of violation may be "mw”
a.  Question: according to 1a1m, where is the "mw”?

i Answer: as long as he is unaware of the j29p 2avn, that constitutes mw

b. 227 do not consider j29p N to constitute mw — what do they require?
i 2 71 as long as he was unaware of the n13, even if he was aware of the 18
ii. 5727, must be unaware of the 8% as well

1.  ~279"2w7's source — v. 1 (w/ addition of "owRY NAWA NPYYN” from 13:T RIPN)
2. pnr/7uses v. 1 per Rnia:
a. PN oyp: excludes Tmwn, per v — only 27n if awareness must lead him to do nawn (v. 1)
ii. Analysis: next mwn lists 39 n”R — and 13y "1 concludes that the enumeration teaches the maximum
number of M1127p he would be liable if done in one n5yn
1. Only possible if: he knew it was naw but forgot maxvn MoR
a. 1% that works — as long as he forgot n73 21n for naw, he’d be liable
b. 57w difficult — if he forgot the w5 of naw narYn, what did he “know”?

i Answer: he was aware of Pmnn MR (per ¥, who holds that Xn»1RT prinn)
iv. Note: ®n2m12 which extends aw to someone who knows naw 1908 and naxYn Mo°R but is unaware of
1297 21N must be associated with 121
V. »an. Applications of dispute 9”2v7/2"1 to other areas of n2%n

1. »v22 nyraw »" would agree that he must be unaware of the 8% to be liable for j27p
a.  Challenge: obvious; »" only allowed for n13 naw where there is n15 — no n7 for "va N1V
b.  Justification: since j27p for 022 ny1av is unusual (only 127p brought for a “simple” wY) —
i Therefore: we would have thought that 129p na»w would be sufficient — 5"np
c.  Challenge (versionl): definition of MW for nv*a ny1aw about the past is if he knew nyaw was
prohibited but he didn’t know if he was liable for 127p
i Defense: this follows 1ann
d. Challenge (version2): could not be authored by rann; if he allows for 129p naw in a normal
case, he would certainly do so here (where 1297 is Wy1'n)>must be 1327 — »aR is refuted
2. 95 aprum " would agree that there is no wnin-liability unless he is 1892 ;v
a.  Challenge: obvious — " only allowed for n13 niw where there is n13 (here: mnw *112 Nnon)
i.  Justification: "70 that v”an:n13 and v”an nnw should be sufficient — 5"np
b. x17w"nis, indeed, parallel to n13 and " would allow for w”an nuw to reckon it mw
II. Tangent: observing naw in isolation with no calendar
a. w1727 if he was wandering and lost track of the days, he works for 6 days and observes the 7
b. 2772 #7m he keeps 1 day then works for the next 6

i Disagreement: whether we pattern the schedule after creation (naw comes after 6 days)
1. Or: after Man'’s creation (naw is first)
ii. Challenge: Xn»2 addressing this situation — "nww% TR OV TNWVH”

1. Assumption: this means that he counts 6 and observes the 7t
2. Suggestion: alternative meaning — counts 1 and keeps 6
a.  Challenge: wording should have been “nv? n'n’ nwY IWN”
b. Additionally: ®n»a ruling that he works for 6 days and “observes” 7"->24 92 8»n refuted
c.  N27sadditions: to X110 v's ruling
i. Work: he may only work enough to eat for each day on that day, except for day #7
1. Challenge: is he supposed to die on day #7?
2. Rather: he does double-work on his day #6
a. Challenge: what if day #6 is the real naw?
b.  Rather: he works each day for what is needed that day for survival
ii. If he remembers: which day he left, he may do all work on that day each week
1. Challenge: he should be able to work for 2 days, since he wouldn’t have left on v"y
2. Answer: sometimes a caravan will come along and he’ll travel on "y
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